Quotation for Environmental Analysis / Sampling Services:

Client ID: City of Killeen

Project ID: Water and Wastewater Analytical Services

Quotation ID: Killeen_042523_Rev.0

Revision History: None Quotation Date: 4.25.23 Contact: Mr. Alex Tucker

Client Email: ATucker@killeentexas.gov

Laboratory Agent: Shay Ochoa

Analytical Requirements: Water & Sewer Operations

Item Description Class / Item	Subcontract Analysis	Quantity	Unit of Measure	Unit Price	Extension
Total Coliform / E. coli (Potable / BACTs)	No	1440	Each	\$16	\$23,040
Total Coliform / E. coli (Potable / BACTs)- SPECIAL	No	150	Each	\$16	\$2,400
Total Coliform / E. coli (Potable / BACTs)- REPEATS	No	100	Each	\$16	\$1,600
Nitrate Analysis	No	156	Each	\$20	\$3,120
Nitrite Analysis	No	156	Each	\$20	\$3,120
Environmental Impact / Energy Resource- Per Project			Each	\$10	\$10
ESTIMATED GRAND TOTAL				\$33,290	

Analytical Requirements: Water & Sewer BPAT

Item Description Class / Item	Subcontract Analysis	Quantity	Unit of Measure	Unit Price	Extension
TSS Analysis	No	500	Each	\$16	\$8,000
CBOD Analysis	No	500	Each	\$25	\$12,500
Composite Sampler Rental	No	1	Each	\$225	\$225
Environmental Impact / Energy Resource- Per Project		1	Each	\$10	\$10
ESTIMATED GRAND TOTAL				\$20,735	

ESTIMATED COMBINED ANNUAL PROJECT TOTAL \$54,025

Special Services	Unit Cost
24 Hour Auto-Sampler Service – Setup / Take Down / Travel	\$ 225.00
Dedicated Route Service for Sample Pick-Up on Wednesday or Thursday	No Charge
Construction Sample Analysis – BACTS	\$ 25.00
Weekend Analysis / After- Hours- BATCS (Special Set-Up Fee)_Microbiological Analyst	\$100.00
Weekend / After-Hours Same Day Final Reporting- (Admin Fee)_Project Management	\$50.00

Special Requirements / Notes:

- Performance Period: 2023-2024 Fiscal Year
- Project Expectations: On site Sampling / Pick-up at client's discretion / direction
- All bottles / sampling kits and forms provided at no additional charge.
- Standard / routine turnaround time for results is 10-12 working days.

Respectfully Submitted by:

Shay Ochoa, Project Manager

BIO CHEM LAB, INC. PHONE 254.829.8001 4751 TOKIO ROAD WEST, TEXAS 76691

\$ FAX 254.829.8013

Quotation for Environmental Analysis / Sampling Services:

Client ID: City of Killeen

Project ID: Skylark & Regional Airports Benchmark Monitoring

Quotation ID: Killeen_081523C_Rev.0

Revision History: None Quotation Date: 8.15.23 Contact: Ms. Lisa Miller

Client Email: LMiller@killeentexas.gov

Laboratory Agent: Shay Ochoa

Analytical Requirements:

Item Description Class / Item	Subcontract Analysis	Quantity	Unit of Measure	Unit Price	Extension
Total Metals (Cu, Al, Fe, Pb, Zn)	No	8	Each	\$75	\$600
Metals Digestion	No	8	Each	\$17	\$136
pH Analysis	No	8	Each	\$12	\$96
COD Analysis	No	8	Each	\$25	\$200
NH3N Analysis	No	8	Each	\$20	\$160
Environmental Impact / Energy Resource (Per Shipment)		8	Each	\$0	<i>\$0</i>
ESTIMATED GRAND TOTAL					\$1,192

Special Requirements / Notes:

- Performance Period: 2023-2024 Fiscal Year
- Project Expectations: On site pick-up at client's discretion / direction.
- All bottles / sampling kits and forms provided at no additional charge.
- Project shipping / network review fees are charged per shipment.
- Estimated standard / routine turnaround time for results is 10-12 working days.

Respectfully Submitted by:

Ruce Ochow

Shay Ochoa, Senior Environmental Project Manager

\$ FAX 254.829.8013 BIO CHEM LAB, INC. \$ PHONE 254.829.8001 4751 TOKIO ROAD WEST, TEXAS 76691

Quotation for Environmental Analysis / Sampling Services:

Client ID: City of Killeen

Project ID: Discharge Monitoring Quotation ID: Killeen_081522A_Rev.0

Revision History: None Quotation Date: 8.15.23 Contact: Ms. Lisa Miller

Client Email: LMiller@killeentexas.gov

Laboratory Agent: Shay Ochoa

Analytical Requirements:

Item Description Class / Item	Subcontract Analysis	Quantity	Unit of Measure	Unit Price	Extension
Total Metals (As, Ba, Cd, Cr, Cu, Pb, Mn, Ni, Se, Ag, Zn)	No	11	Each	\$165	\$1,815
Metals Digestion	No	11	Each	\$17	\$187
Total Mercury by EPA 245.1 (RL 0.0002)	Yes	11	Each	\$60	\$660
Mercury Digestion	Yes	11	Each	\$20	\$220
Environmental Impact / Energy Resource (Per Site)		1	Each	\$89	\$89
Project Shipping / Network Review (Per Shipment)		1	Each	\$39	\$39
ESTIMATED GRAND TOTAL					\$3,010

Special Requirements / Notes:

- Performance Period: 2023-2024 Fiscal Year
- Project Expectations: On site pick-up at client's discretion / direction.
- All bottles / sampling kits and forms provided at no additional charge.
- Project shipping / network review fees are charged per shipment.
- Estimated standard / routine turnaround time for results is 10-12 working days.

Respectfully Submitted by:

ree Ochous

Shay Ochoa, Senior Environmental Project Manager

Quotation for Environmental Analysis / Sampling Services:

Client ID: City of Killeen

Project ID: Recycling & Transfer Station Benchmark

Quotation ID: Killeen_081523B_Rev.0

Revision History: None Quotation Date: 8.15.23 Contact: Ms. Lisa Miller

Client Email: LMiller@killeentexas.gov

Laboratory Agent: Ashle Ochoa

Analytical Requirements:

Item Description Class / Item	Subcontract Analysis	Quantity	Unit of Measure	Unit Price	Extension
COD Analysis	No	12	Each	\$25	\$300
TSS Analysis	No	12	Each	\$19	\$228
Total Metals (Cu, Al, Fe, Pb, Zn)	No	12	Each	\$75	\$900
Metals Digestion	No	12	Each	\$17	\$204
Environmental Impact / Energy Resource (Per Shipment)		12	Each	\$0	\$0
ESTIMATED GRAND TOTAL				\$1,632	

Special Requirements / Notes:

- Performance Period: 2023-2024 Fiscal Year
- Project Expectations: On site pick-up at client's discretion / direction.
- All bottles / sampling kits and forms provided at no additional charge.
- Project shipping / network review fees are charged per shipment.
- Estimated standard / routine turnaround time for results is 10-12 working days.

Respectfully Submitted by:

rue Ochow)

Shay Ochoa, Senior Environmental Project Manager